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e J0DIDOOODDO glRotateWithVec(myPos,
fk_Y, rad)

e JIIUOODODOOO loRotateWithVec(0, 0, 0,
tk X, rad)
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model.glMoveTo(0.5*model.getPosition()
+ 0.5*xtargetPos) ;
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fk_Angle nowAng, targetAng;
fk_Quaternion nowQ, targetQ, interQ;

// 0000000000000000000000
// 0000000000

nowAng = model.getAngle();

targetAng = /x DO0O0OO0OO00OO0O =/;
nowQ.makeEuler (nowAng) ;

targetQ.makeEuler (targetAng) ;

// 0000000
// (0.5000000000000000000)
interQ =
fk_Math: :quatInterSphere
(nowQ, targetQ, 0.5);
// 0000000000000000
model.glAngle (interQ.getEuler());
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if (/* R_TURN */) {
camera.glRotateWithVec
(targetPos, fk_Y, rad);
}
if (/* L_TURN */) {
camera.glRotateWithVec
(targetPos, fk_Y, -rad);
}
if (/* U_TURN */) {
camera.glRotateWithVec
(targetPos, targetPos+vecR, rad);
}
if (/* D_TURN */) {
camera.glRotateWithVec
(targetPos, targetPos+vecR, -rad);
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fk_Vector vecF;

double cosT, rad;
//YOODOoOOOODOODOODOOOOODOODOO
vecF = camera.getVec();

vecF.y = 0.0;



vecF.normalize();
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cosT = vecF*camera.getVec();

rad = acos(cosT);
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